# Fractional transformation and new solutions to mKdV equation 

Zuntao Fu ${ }^{\text {a,b,* }}$, Lin Zhang ${ }^{\text {a }}$, Shida Liu ${ }^{\text {a,b }}$, Shikuo Liu ${ }^{\text {a }}$<br>${ }^{\text {a }}$ School of Physics, Peking University, Beijing 100871, PR China<br>${ }^{\text {b }}$ State Key Laboratory for Turbulence and Complex System, Peking University, Beijing 100871, PR China

Received 8 October 2003; accepted 1 April 2004
Communicated by A.R. Bishop


#### Abstract

A fractional transformation is introduced to solve modified KdV ( mKdV for short) equation, where this fractional transformation is used to map the solutions of an elliptic equation to another elliptic equation. Thus, more new kinds of solutions are obtained, such as rational periodic wave solutions, rational solitary wave solutions and so on. It is shown that this method is more powerful to give more kinds of solutions.


 © 2004 Elsevier B.V. All rights reserved.PACS: 03.65.Ge
Keywords: Elliptic equation; Jacobi elliptic function; Fractional transformation; Solitary wave solution; Periodic wave solution

## 1. Introduction

Since much attention has been paid to the study how to solve nonlinear models, many methods have been proposed to construct exact solutions to nonlinear equations. Among them are the sine-cosine method [1], the homogeneous balance method [2,3], the hyperbolic tangent expansion method [4,5], the Jacobi elliptic function expansion method [6,7], the nonlinear transformation method [8,9], the trial function method [10,11] and others [12-14].

Apart from methods mentioned above, direct algebra method [15,16] has its own advantages: it is simple and has a strong operability, where the solutions of nonlinear wave equations are mapped to those of simple equations. In Refs. [17-19], elliptic equations have been applied as a mapping to obtain many kinds of periodic solutions.

In this Letter, we will reconsider elliptic equation [20]

$$
\begin{equation*}
y^{\prime 2}=a_{0}+a_{1} y^{2}+a_{2} y^{4}, \tag{1}
\end{equation*}
$$

i.e.,

$$
\begin{equation*}
y^{\prime \prime}=a_{1} y+2 a_{2} y^{3}, \tag{2}
\end{equation*}
$$

[^0]where the prime denotes the derivatives in terms of its argument and apply it to solve mKdV equation for more kinds of solutions.

## 2. mKdV equation

mKdV equation reads [20]:

$$
\begin{equation*}
u_{t}+\alpha u^{2} u_{x}+\beta u_{x x x}=0 \tag{3}
\end{equation*}
$$

and it is met in many fields, such as shallow water model, plasma science, biophysics and etc.
We seek its traveling wave solutions in the following frame

$$
\begin{equation*}
u=u(\xi), \quad \xi=k(x-c t) \tag{4}
\end{equation*}
$$

here $c$ is wave velocity, $k$ is wave number.
Substituting Eq. (4) into Eq. (3) and integrating once yield

$$
\begin{equation*}
-c u+\frac{\alpha}{3} u^{3}+\beta k^{2} u^{\prime \prime}=D, \tag{5}
\end{equation*}
$$

where $D$ is an integration constant.
For Eq. (5), there are two cases needed to consider, the first one is $D=0$, Eq. (5) can be rewritten as

$$
\begin{equation*}
u^{\prime \prime}=\frac{c}{\beta k^{2}} u-\frac{\alpha}{3 \beta k^{2}} u^{3} \tag{6}
\end{equation*}
$$

obviously, this is just the elliptic equation (2) with

$$
\begin{equation*}
a_{1}=\frac{c}{\beta k^{2}}, \quad a_{2}=-\frac{\alpha}{6 \beta k^{2}} \tag{7}
\end{equation*}
$$

it has many more kinds of solutions, we will show some next expressed in terms of different Jacobi elliptic functions [20].
(1) If $a_{0}=1, a_{1}=c /\left(\beta k^{2}\right)=-\left(1+m^{2}\right)$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=m^{2}$, then the solution is

$$
\begin{equation*}
u_{1}=\operatorname{sn}(\xi, m) \tag{8}
\end{equation*}
$$

where $0 \leqslant m \leqslant 1$, is called modulus of Jacobi elliptic functions, see [20-24], and $\operatorname{sn}(\xi, m)$ is Jacobi elliptic sine function, see [20-24].
(2) If $a_{0}=1-m^{2}, a_{1}=c /\left(\beta k^{2}\right)=2 m^{2}-1$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=-m^{2}$, then the solution is

$$
\begin{equation*}
u_{2}=\mathrm{cn}(\xi, m) \tag{9}
\end{equation*}
$$

where $\mathrm{cn}(\xi, m)$ is Jacobi elliptic cosine function, see [20-24].
(3) If $a_{0}=1-m^{2}, a_{1}=c /\left(\beta k^{2}\right)=2-m^{2}$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=-1$, then the solution is

$$
\begin{equation*}
u_{3}=\operatorname{dn}(\xi, m) \tag{10}
\end{equation*}
$$

where $\operatorname{dn}(\xi, m)$ is Jacobi elliptic function of the third kind, see [20-24].
(4) If $a_{0}=m^{2}, a_{1}=c /\left(\beta k^{2}\right)=-\left(1+m^{2}\right)$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=1$, then the solution is

$$
\begin{equation*}
u_{4}=\mathrm{ns}(\xi, m) \equiv \frac{1}{\operatorname{sn}(\xi, m)} \tag{11}
\end{equation*}
$$

(5) If $a_{0}=-m^{2}, a_{1}=c /\left(\beta k^{2}\right)=2 m^{2}-1$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=1-m^{2}$, then the solution is

$$
\begin{equation*}
u_{5}=\operatorname{nc}(\xi, m) \equiv \frac{1}{\operatorname{cn}(\xi, m)} \tag{12}
\end{equation*}
$$

(6) If $a_{0}=-1, a_{1}=c /\left(\beta k^{2}\right)=2-m^{2}$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=m^{2}-1$, then the solution is

$$
\begin{equation*}
u_{6}=\operatorname{nd}(\xi, m) \equiv \frac{1}{\operatorname{dn}(\xi, m)} \tag{13}
\end{equation*}
$$

(7) If $a_{0}=1, a_{1}=c /\left(\beta k^{2}\right)=2-m^{2}$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=1-m^{2}$, then the solution is

$$
\begin{equation*}
u_{7}=\operatorname{sc}(\xi, m) \equiv \frac{\operatorname{sn}(\xi, m)}{\operatorname{cn}(\xi, m)} \tag{14}
\end{equation*}
$$

(8) If $a_{0}=1, a_{1}=c /\left(\beta k^{2}\right)=2 m^{2}-1$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=\left(m^{2}-1\right) m^{2}$, then the solution is

$$
\begin{equation*}
u_{8}=\operatorname{sd}(\xi, m) \equiv \frac{\operatorname{sn}(\xi, m)}{\operatorname{dn}(\xi, m)} \tag{15}
\end{equation*}
$$

(9) If $a_{0}=1-m^{2}, a_{1}=c /\left(\beta k^{2}\right)=2-m^{2}$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=1$, then the solution is

$$
\begin{equation*}
u_{9}=\operatorname{cs}(\xi, m) \equiv \frac{\operatorname{cn}(\xi, m)}{\operatorname{sn}(\xi, m)} \tag{16}
\end{equation*}
$$

(10) If $a_{0}=1, a_{1}=c /\left(\beta k^{2}\right)=-\left(1+m^{2}\right)$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=m^{2}$, then the solution is

$$
\begin{equation*}
u_{10}=\operatorname{cd}(\xi, m) \equiv \frac{\operatorname{cn}(\xi, m)}{\operatorname{dn}(\xi, m)} \tag{17}
\end{equation*}
$$

(11) If $a_{0}=m^{2}\left(m^{2}-1\right), a_{1}=c /\left(\beta k^{2}\right)=2 m^{2}-1$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=1$, then the solution is

$$
\begin{equation*}
u_{11}=\operatorname{ds}(\xi, m) \equiv \frac{\operatorname{dn}(\xi, m)}{\operatorname{sn}(\xi, m)} \tag{18}
\end{equation*}
$$

(12) If $a_{0}=m^{2}, a_{1}=c /\left(\beta k^{2}\right)=-\left(1+m^{2}\right)$ and $a_{2}=-\alpha /\left(6 \beta k^{2}\right)=1$, then the solution is

$$
\begin{equation*}
u_{12}=\operatorname{dc}(\xi, m) \equiv \frac{\operatorname{dn}(\xi, m)}{\operatorname{cn}(\xi, m)} \tag{19}
\end{equation*}
$$

There still exist many other kinds of Jacobi elliptic functions, we do not show here. It is known that when $m \rightarrow 1$, $\operatorname{sn}(\xi, m) \rightarrow \tanh \xi, \operatorname{cn}(\xi, m) \rightarrow \operatorname{sech} \xi, \operatorname{dn}(\xi, m) \rightarrow \operatorname{sech} \xi$ and when $m \rightarrow 0, \operatorname{sn}(\xi, m) \rightarrow \sin \xi, \operatorname{cn}(\xi, m) \rightarrow \cos \xi$, so we also can derive solutions expressed in terms of hyperbolic functions and trigonometric functions.

The second case for Eq. (5) is $D \neq 0$, there will exist different kinds of solutions. In order to solve Eq. (5), we introduce a fractional transformation, i.e.,

$$
\begin{equation*}
u(\xi)=\frac{b_{0}+b_{1} y^{2}(\xi)}{1+b_{2} y^{2}(\xi)} \tag{20}
\end{equation*}
$$

where $y(\xi)$ is given by Eqs. (1) and (2).
In order to obtain nontrivial solutions, there is a constraint

$$
\begin{equation*}
b_{0} b_{2}-b_{1} \neq 0 \tag{21}
\end{equation*}
$$

for the fractional transformation. Through the fractional transformation (20), the solutions of Eq. (5) with $D \neq 0$ are mapped to those of the elliptic equation (1) or (2).

Considering the fractional transformation (20) and the elliptic equation (1) or (2), we have

$$
\begin{align*}
& u^{\prime \prime}=2\left(b_{1}-b_{0} b_{2}\right) \frac{a_{0}+\left(2 a_{1}-3 a_{0} b_{2}\right) y^{2}+\left(3 a_{2}-2 a_{1} b_{2}\right) y^{4}-a_{2} b_{2} y^{6}}{\left(1+b_{2} y^{2}\right)^{3}}  \tag{22}\\
& u^{3}=\frac{b_{0}^{3}+3 b_{0}^{2} b_{1} y^{2}+3 b_{0} b_{1}^{2} y^{4}+b_{1}^{3} y^{6}}{1+3 b_{2} y^{2}+3 b_{2}^{2} y^{4}+b_{2}^{3} y^{6}} \tag{23}
\end{align*}
$$

Substituting Eqs. (20), (22) and (23) into Eq. (5) results in

$$
\begin{align*}
& {\left[2 a_{0} \beta k^{2}\left(b_{1}-b_{0} b_{2}\right)+\frac{\alpha}{3} b_{0}^{3}-c b_{0}-D\right]} \\
& \quad+\left[2 \beta k^{2}\left(b_{1}-b_{0} b_{2}\right)\left(2 a_{1}-3 a_{0} b_{2}\right)+\alpha b_{0}^{2} b_{1}-c\left(2 b_{0} b_{2}+b_{1}\right)-3 D b_{2}\right] y^{2} \\
& \quad+\left[2 \beta k^{2}\left(b_{1}-b_{0} b_{2}\right)\left(3 a_{2}-2 a_{1} b_{2}\right)+\alpha b_{0} b_{1}^{2}-c\left(b_{0} b_{2}^{2}+2 b_{1} b_{2}\right)-3 D b_{2}^{2}\right] y^{4} \\
& \quad+\left[-2 \beta k^{2}\left(b_{1}-b_{0} b_{2}\right) a_{2} b_{2}+\frac{\alpha}{3} b_{1}^{3}-c b_{1} b_{2}^{2}-D b_{2}^{3}\right] y^{6}=0 . \tag{24}
\end{align*}
$$

The arbitrariness of argument $\xi$ for function $y(\xi)$ leads to the consistency conditions

$$
\begin{align*}
& 2 a_{0} \beta k^{2}\left(b_{1}-b_{0} b_{2}\right)+\frac{\alpha}{3} b_{0}^{3}-c b_{0}-D=0,  \tag{25}\\
& 2 \beta k^{2}\left(b_{1}-b_{0} b_{2}\right)\left(2 a_{1}-3 a_{0} b_{2}\right)+\alpha b_{0}^{2} b_{1}-c\left(2 b_{0} b_{2}+b_{1}\right)-3 D b_{2}=0,  \tag{26}\\
& 2 \beta k^{2}\left(b_{1}-b_{0} b_{2}\right)\left(3 a_{2}-2 a_{1} b_{2}\right)+\alpha b_{0} b_{1}^{2}-c\left(b_{0} b_{2}^{2}+2 b_{1} b_{2}\right)-3 D b_{2}^{2}=0,  \tag{27}\\
& -2 \beta k^{2}\left(b_{1}-b_{0} b_{2}\right) a_{2} b_{2}+\frac{\alpha}{3} b_{1}^{3}-c b_{1} b_{2}^{2}-D b_{2}^{3}=0 . \tag{28}
\end{align*}
$$

We can see that there are rich structures resulted from Eqs. (25), (26), (27) and (28) in the range of parameter values of (5). Here we show two special cases.

Case 1. $b_{0}=0, b_{1} \neq 0$ and $b_{2} \neq 0$
In this case, Eqs. (25), (26), (27) and (28) are rewritten as

$$
\begin{align*}
& 2 a_{0} \beta k^{2} b_{1}-D=0  \tag{29}\\
& 2 \beta k^{2} b_{1}\left(2 a_{1}-3 a_{0} b_{2}\right)-c b_{1}-3 D b_{2}=0  \tag{30}\\
& 2 \beta k^{2} b_{1}\left(3 a_{2}-2 a_{1} b_{2}\right)-2 c b_{1} b_{2}-3 D b_{2}^{2}=0  \tag{31}\\
& -2 \beta k^{2} a_{2} b_{1} b_{2}+\frac{\alpha}{3} b_{1}^{3}-c b_{1} b_{2}^{2}-D b_{2}^{3}=0 \tag{32}
\end{align*}
$$

from which we can obtain

$$
\begin{equation*}
b_{1}=\frac{D}{2 a_{0} \beta k^{2}}, \quad b_{2}=\frac{4 a_{1} \beta k^{2}-c}{12 a_{0} \beta k^{2}} \tag{33}
\end{equation*}
$$

with constraints

$$
\begin{equation*}
c^{2}=16 \beta^{2} k^{4}\left(a_{1}^{2}-3 a_{0} a_{2}\right) \tag{34}
\end{equation*}
$$

and

$$
\begin{equation*}
\left(4 a_{1} \beta k^{2}-c\right)^{3}+6 c\left(4 a_{1} \beta k^{2}-c\right)^{2}+144 a_{0} a_{2} \beta^{2} k^{4}\left(4 a_{1} \beta k^{2}-c\right)-72 \alpha D^{2}=0 . \tag{35}
\end{equation*}
$$

From constraint (34), we know that

$$
\begin{equation*}
a_{1}^{2}-3 a_{0} a_{2} \geqslant 0 \tag{36}
\end{equation*}
$$

Recalling the solutions to Eqs. (1) or (2), i.e., solutions from $u_{1}$ to $u_{12}$, we can obtain another new rational periodic solutions.
(1) If $a_{0}=1, a_{1}=-\left(1+m^{2}\right)$ and $a_{2}=m^{2}$, then $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{1}=\operatorname{sn}(\xi, m)  \tag{37}\\
& u_{1 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \operatorname{sn}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \operatorname{sn}^{2}(\xi, m)} \tag{38}
\end{align*}
$$

(2) If $a_{0}=1-m^{2}, a_{1}=2 m^{2}-1$ and $a_{2}=-m^{2}$, then $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{2}=\operatorname{cn}(\xi, m)  \tag{39}\\
& u_{2 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \operatorname{cn}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \mathrm{cn}^{2}(\xi, m)} \tag{40}
\end{align*}
$$

(3) If $a_{0}=1-m^{2}, a_{1}=2-m^{2}$ and $a_{2}=-1$, then $a_{1}^{2}-3 a_{0} a_{2}=7-7 m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{3}=\operatorname{dn}(\xi, m)  \tag{41}\\
& u_{3 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \operatorname{dn}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \operatorname{dn}^{2}(\xi, m)} \tag{42}
\end{align*}
$$

(4) If $a_{0}=m^{2}, a_{1}=-\left(1+m^{2}\right)$ and $a_{2}=1$, then $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{4}=\operatorname{ns}(\xi, m) \equiv \frac{1}{\operatorname{sn}(\xi, m)}  \tag{43}\\
& u_{4 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \mathrm{~ns}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \mathrm{ns}^{2}(\xi, m)} \tag{44}
\end{align*}
$$

(5) If $a_{0}=-m^{2}, a_{1}=2 m^{2}-1$ and $a_{2}=1-m^{2}$, then $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{5}=\operatorname{nc}(\xi, m) \equiv \frac{1}{\operatorname{cn}(\xi, m)}  \tag{45}\\
& u_{5 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \mathrm{nc}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \mathrm{nc}^{2}(\xi, m)} \tag{46}
\end{align*}
$$

(6) If $a_{0}=-1, a_{1}=2-m^{2}$ and $a_{2}=m^{2}-1$, then $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{6}=\operatorname{nd}(\xi, m) \equiv \frac{1}{\operatorname{dn}(\xi, m)}  \tag{47}\\
& u_{6 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \mathrm{nd}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \mathrm{nd}^{2}(\xi, m)} \tag{48}
\end{align*}
$$

(7) If $a_{0}=1, a_{1}=2-m^{2}$ and $a_{2}=1-m^{2}$, then the $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and solution is

$$
\begin{align*}
& y_{7}=\operatorname{sc}(\xi, m) \equiv \frac{\operatorname{sn}(\xi, m)}{\operatorname{cn}(\xi, m)}  \tag{49}\\
& u_{7 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \operatorname{sc}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \operatorname{sc}^{2}(\xi, m)} \tag{50}
\end{align*}
$$

(8) If $a_{0}=1, a_{1}=2 m^{2}-1$ and $a_{2}=\left(m^{2}-1\right) m^{2}$, then $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{8}=\operatorname{sd}(\xi, m) \equiv \frac{\operatorname{sn}(\xi, m)}{\operatorname{dn}(\xi, m)}  \tag{51}\\
& u_{8 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \operatorname{sd}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \mathrm{sd}^{2}(\xi, m)} \tag{52}
\end{align*}
$$

(9) If $a_{0}=1-m^{2}, a_{1}=2-m^{2}$ and $a_{2}=1$, then $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{9}=\operatorname{cs}(\xi, m) \equiv \frac{\operatorname{cn}(\xi, m)}{\operatorname{sn}(\xi, m)}  \tag{53}\\
& u_{9 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \operatorname{cs}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \operatorname{cs}^{2}(\xi, m)} . \tag{54}
\end{align*}
$$

(10) If $a_{0}=1, a_{1}=-\left(1+m^{2}\right)$ and $a_{2}=m^{2}$, then $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{10}=\operatorname{cd}(\xi, m) \equiv \frac{\operatorname{cn}(\xi, m)}{\operatorname{dn}(\xi, m)}  \tag{55}\\
& u_{10 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \operatorname{cd}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \operatorname{cd}^{2}(\xi, m)} . \tag{56}
\end{align*}
$$

(11) If $a_{0}=m^{2}\left(m^{2}-1\right), a_{1}=2 m^{2}-1$ and $a_{2}=1$, then $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{11}=\operatorname{ds}(\xi, m) \equiv \frac{\operatorname{dn}(\xi, m)}{\operatorname{sn}(\xi, m)}  \tag{57}\\
& u_{11 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \operatorname{ds}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \mathrm{ds}^{2}(\xi, m)} \tag{58}
\end{align*}
$$

(12) If $a_{0}=m^{2}, a_{1}=-\left(1+m^{2}\right)$ and $a_{2}=1$, then $a_{1}^{2}-3 a_{0} a_{2}=1-m^{2}+m^{4}>0$ and the solution is

$$
\begin{align*}
& y_{12}=\operatorname{dc}(\xi, m) \equiv \frac{\operatorname{dn}(\xi, m)}{\operatorname{cn}(\xi, m)}  \tag{59}\\
& u_{12 a}=\frac{6 D y^{2}(\xi)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) y^{2}(\xi)}=\frac{6 D \operatorname{dc}^{2}(\xi, m)}{12 a_{0} \beta k^{2}+\left(4 a_{1} \beta k^{2}-c\right) \mathrm{dc}^{2}(\xi, m)} . \tag{60}
\end{align*}
$$

Case 2. $b_{0} \neq 0, b_{1}=0$ and $b_{2} \neq 0$
In this case, from Eqs. (25), (26), (27) and (28), we can derive

$$
\begin{equation*}
b_{0}=\frac{D}{2 a_{2} \beta k^{2}} b_{2}, \quad b_{2}=\frac{12 a_{2} \beta k^{2}}{4 a_{1} \beta k^{2}-c} \tag{61}
\end{equation*}
$$

with constraints (34) and (35). Similarly, we can obtain solutions just similar to solutions from $u_{1 a}$ to $u_{12 a}$, here we omit the details.

## 3. Conclusion

In this Letter, we reconsider elliptic equation in applying to solve nonlinear wave equations, taking mKdV equation as an example, more kinds of solutions are derived from there, including rational periodic solutions,
rational solitary wave solutions constructed in terms of hyperbolic functions, periodic solutions expressed by trigonometric functions and periodic solutions dealing with elliptic functions. In order to derive rational type solutions, a fractional transformation must be introduced. Of course, whether there is application of similar fractional transformation to other nonlinear wave equations is still an open question.

## Acknowledgement

Many thanks are due to support from National Natural Science Foundation of China (No. 40045016 and No. 40175016).

## References

[1] C.T. Yan, Phys. Lett. A 224 (1996) 77.
[2] M.L. Wang, Phys. Lett. A. 199 (1995) 169.
[3] M.L. Wang, Y.B. Zhou, Z.B. Li, Phys. Lett. A 216 (1996) 67.
[4] E.G. Fan, Phys. Lett. A 277 (2000) 212.
[5] E.J. Parkes, B.R. Duffy, Phys. Lett. A 229 (1997) 217.
[6] Z.T. Fu, S.K. Liu, S.D. Liu, Q. Zhao, Phys. Lett. A 290 (2001) 72.
[7] S.K. Liu, Z.T. Fu, S.D. Liu, Q. Zhao, Phys. Lett. A 289 (2001) 69.
[8] R. Hirota, J. Math. Phys. 14 (1973) 810.
[9] N.A. Kudryashov, Phys. Lett. A 147 (1990) 287.
[10] S.K. Liu, Z.T. Fu, S.D. Liu, Q. Zhao, Appl. Math. Mech. 22 (2001) 326.
[11] M. Otwinowski, R. Paul, W.G. Laidlaw, Phys. Lett. A 128 (1988) 483.
[12] A.V. Porubov, Phys. Lett. A 221 (1996) 391.
[13] A.V. Porubov, M.G. Velarde, J. Math. Phys. 40 (1999) 884.
[14] A.V. Porubov, D.F. Parker, Wave Motion 29 (1999) 97.
[15] J.L. Hu, H.L. Zhang, Phys. Lett. A 286 (2001) 175.
[16] C.P. Liu, R.G. Zhou, M.R. Zhou, Phys. Lett. A 246 (1998) 113.
[17] Z.T. Fu, S.D. Liu, S.K. Liu, Commun. Theor. Phys. 39 (5) (2003) 531.
[18] Z.T. Fu, S.K. Liu, S.D. Liu, Commun. Theor. Phys. 40 (3) (2003) 285.
[19] Z.T. Fu, Z. Chen, S.K. Liu, S.D. Liu, Commun. Theor. Phys. (2003), in press.
[20] S.K. Liu, S.D. Liu, Nonlinear Equations in Physics, Peking Univ. Press, Beijing, 2000.
[21] F. Bowman, Introduction to Elliptic Functions with Applications, Universities, London, 1959.
[22] V. Prasolov, Y. Solovyev, Elliptic Functions and Elliptic Integrals, American Mathematical Society, Providence, RI, 1997.
[23] Z.X. Wang, D.R. Guo, Special Functions, World Scientific, Singapore, 1989.
[24] P.F. Byrd, M.D. Friedman, Handbook of Elliptic Integrals for Engineers and Scientists, second ed., Springer-Verlag, Berlin, 1971.


[^0]:    * Corresponding author.

    E-mail address: fuzt@pku.edu.cn (Z. Fu).

